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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define classification and tabulation. Also show their 

importance in statistical studies.   

oxhZdj.k vkSj lkj.kh;u dks ifjHkkf”kr dhft,A lkFk gh 

lkaf[;dh; v/;;u esa mudk egRo crkb,A 

2. Offer some suggestions which may aid a students in 

preparing his research report. 

dqN ,sls lq>ko izLrqr dhft, tks ,d fo|kFkhZ dks vius 

vuqlU/kku izfrosnu dks rS;kj djus esa enn djsaA  

3. 50 students of a class took up a test of Statistics. Marks 

obtained by them are given below. Calculate the 

arithmetic mean, median and mode of marks obtained :  

Mark Obtained  No. of Students 

0 5 

2 10 

4 12 

6 10 

7 7 

8 4 

9 2 
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,d d{kk esa 50 fo|kfFkZ;ksa us lkaf[;dh dh ijh{kk nhA muds 

izkIrkad fuEufyf[kr izdkj ls gSaA izkIrkadksa dk lekUrj ek/;] 

ekf/;dk ,oa cgqyd Kkr dhft, % 

izkIrkad Nk=ksa dh la[;k 

0 5 

2 10 

4 12 

6 10 

7 7 

8 4 

9 2 

4. The marks obtained in two subjects by a class are 

given below. For a comparative study group them in a 

suitable manner :  

Statistics :  

65, 42, 30, 76, 48, 55, 77, 74, 66, 26, 57, 62, 21, 67, 

71, 70, 59, 54, 78, 49, 41, 53, 42, 56, 65, 63, 47, 37, 

45, 36, 60, 68, 44, 54, 73, 50, 28, 35, 49, 42, 63, 56, 

74, 70, 48  

Economics :  

48, 36, 57, 69, 65, 53, 42, 33, 27, 60, 72, 63, 44, 36, 

57, 38, 42, 47, 45, 39, 24, 38, 21, 49, 56, 62, 50, 63, 

41, 57, 38, 28, 37, 51, 44, 53, 40, 36, 36, 51, 42, 57, 

42, 40, 48 
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,d d{kk ds nks fo”k;ksa esa izkIrkad fn;s x;s gSaA rqyukRed 

v/;;u ds fy, bUgsa mfpr :i eas oxhZd`r dhft, % 

lkaf[;dh % 

65, 42, 30, 76, 48, 55, 77, 74, 66, 26, 57, 62, 21, 67, 

71, 70, 59, 54, 78, 49, 41, 53, 42, 56, 65, 63, 47, 37, 

45, 36, 60, 68, 44, 54, 73, 50, 28, 35, 49, 42, 63, 56, 

74, 70, 48  

vFkZ’kkL= % 

48, 36, 57, 69, 65, 53, 42, 33, 27, 60, 72, 63, 44, 36, 

57, 38, 42, 47, 45, 39, 24, 38, 21, 49, 56, 62, 50, 63, 

41, 57, 38, 28, 37, 51, 44, 53, 40, 36, 36, 51, 42, 57, 

42, 40, 48 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is probable error ? Explain it.  

laHkkO; foHkze fdls dgrs gSa \ bldh O;k[;k dhft,A  
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2. The average wages of a group of 80 workers was ` 50. 

It was later on discovered that the wages of the 

workers were misread as ` 32 and ` 41 instead of ` 23 

and ` 14. Calculate the correct average wages.  

,d lewg ds 80 Jfedksa dh vkSlr etnwjh ` 50 Kkr dh 

x;hA ijUrq ckn esa ;g Kkr gqvk fd nks Jfedksa dh etnwjh 

tks fd ` 23 o ` 14 FkhA mls xyr :i esa ` 32 o ` 41 

i<+ fy;kA lgh vkSlr etnwjh Kkr dhft,A  

3. How does a “Questionnaire” differ from a “Schedule” ?  

ßiz’ukoyhÞ o ßvuqlwphÞ esa D;k vUrj gS \ 

4. What are the causes of distrust in Statistics ?   

lkaf[;dh ds izfr vfo’okl ds dkj.k D;k gSa \  

5. Write short notes on the following : 

(a) Experimental Design  

(b) Descriptive Design 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ iz;ksxkRed vfHkdYi 

¼c½ o.kZukRed vfHkdYi 

6. Write the characteristics of a good hypothesis.  

,d vPNh midYiuk dh fo’ks”krk,¡ fyf[k,A  

7. What are the different types of interview techniques ? 

lk{kkRdkj fof/k;ksa ds izeq[k izdkj D;k gSa \ 

8. Write a short note on historical research.  

,sfrgkfld vuqlU/kku ij ,d laf{kIr fVIi.kh fyf[k,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Writ True/False against the following :  

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. The width of class intervals must be uniform in a 

frequency distribution. (True/False)  

,d vko`fŸk forj.k esa oxZ vUrjky leku gksuk pkfg,A  

    ¼lR;@vlR;½ 

2. Continuous series cannot be formed from discrete 

variables.   (True/False) 

[kf.Mr pjksa ls v[kf.Mr Js.kh ugh cu ldrhA   

    ¼lR;@vlR;½ 

3. In an exclusive series the upper limit of a class (L2) is 

the lower limit (L1) of the succeeding class.  

     (True/False) 

viothZ oxkZUrj esa ,d oxZ dh mPp lhek (L2) ,oa vxys 

o”kZ dh fuEu lhek (L1) leku gksrh gSA  ¼lR;@vlR;½ 

4. The objectives and scope of statistical investigation are 

decided before the research. (True/False) 

lkaf[;dh vuqlU/kku ds mís’; ,oa {ks= vuqlU/kku ds igys 

fuf’pr fd;s tkrs gSaA   ¼lR;@vlR;½ 



 [ 7 ] S-212 

 P. T. O. 

5. If P. E. of certain group is .09 and its r = .8, r shall be 

considered significant.  (True/False) 

;fn fdlh lewg dk lEHkkO; foHkze .09 gS rFkk r = .08] rks 

r lkFkZd dgk tk;sxkA   ¼lR;@vlR;½ 

Fill in the blanks :  

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Sample method is appropriate for ........... population.  

izfrn’kZ fof/k 
----------------

 lexz ds fy, mi;qDr gksrh gSA  

7. The difference between of the upper and lower limit of 

each class is called ........... . 

izR;sd oxZ dh mPprj rFkk fuEu Lrj lhek ds vUrj dks
 

---------------
 dgk tkrk gSA  

8. The coefficient of correlation is under root of two 

............ . 

lglEcU/k xq.kkad nks 
--------------

 dk oxZewy gksrk gSA  

9. The number of observations corresponding to a 

particular class in known as ........... . 

fdlh fof’k”V oxkZUrj ds voyksduksa dh la[;k ml oxkZUrj 

dh 
------------------

 dgk tkrk gSA  

10. The facts which can be measured directly in 

quantitative terms are called ........... .  

,sls rF; ftUgsa izR;{k :i ls la[;k esa ekik tk ldrk  

gS 
--------------

 dgykrs gSaA  
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